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Class X11
Business Studies
Post Mid Term Exam 2023-24
Set Bl

Waximam Marks: 80 Time Allowed: 3 Hours

Geperal instroctions:

1. This guestion paper comtaing 34 questions.
2 Warks are indicated against cach question-
3, Attempt all parts of the questions together.

SECTION A
T STATEMENT I: Financial planning is essentially the preparation of financial blueprint of
an organisation’s future operations. -

STATEMENT II: Financial planning is done only for long-term and focuses on capital
expenditure programmes only.

Choose the correct option from the options given below:
atement 1 is true and Statement 11 is false.
{b) Statement [T is truc and Statement 1 is false.

{c) Both the gtatements are trie.
(d) Both the statements are false.

5 Assertion: The various marketing methods used by 8 business firm can increase the price

of a product. v

Reason: Increase in the number of sales people employed, quality of packaging and amount
| of eredit extended to the customer increases the overall expenditure of the firm.

o s Both Assertion and Reason arc true and Reason given is the correct explanation oF
i Aszsertion

_ ) Both Assertion and Reason are true but Fenson given is not
{ Asgertion.

e} Assertion is true but Reason is false

dy Assertion is false but Reazon is true

the correct explanation of

3. “Burgers nnd Pudge' was among the first fast food chains i Inndlia which pioneered the
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wdtinational food chaing like McDonalds and Pizza Hut, etc. and soon had to shuy doyy,

The reason to shut down was the mability of managers tﬂﬂcw!ﬁﬂ_ﬂ evaluate ang

to react to the forces exteenal to theis-firm.

Why did *Burgers and Fudge” fail?

{a) They did not have resources to carry on with the business™

(b} They failed to identify opportunities and get first mover advantage™
hey could not identify threats and early warning signals.

{d} They understood the social environment influencing business and decided to
discontinue fast food &~

4, ‘Managing public opinion ol an organisation is an important task performed by the 1
marketing department.’ It is included under which of the following element of marketing
mix?
{a) Product mix
(b) Place mix

2 From 2003, all transactions in securities are to be settled within two days after the trade 1
date. This svstem iz known as:

( [# Rolling settlement system
(b) Rotational setilement system
() Automatic settlement system
o} Botual settlement system
e 3 hMM-ﬂjinNN"'i{H'EE'}'
Which of the following is not an example of economic objective of munagement?
o} Bavi is working hard to ensure tlm'alis enough revenue eamed by his fuctory so that
costs could be covered, L

b} Drishti has decided fo increase salary of her managers, keeping in mind

performance. their good

¢) Sanchit has reached Africa to ibili :

) ipess there W # to find the possibility of opening a new branch of his
I%h bande

“Temptations® is a food joint in Imperial Mall in Bengalury, It is i
: - becoming pular among
students and working people due to healthy, on-the-go dishes o 5 i I

n its mepy like

Wrap', ‘Chickpeas Salad’, ‘Grilled Sandwiches’, etc, : ‘Paneer

branches in other parts of Bengaluru, Which ﬂmmﬁlﬁ: I::n ::‘d tu_ﬂpm two new

a case? en discussed in the
erm investment decision

(b) Short-term investment decision

(c) Dividend decision

(d) Financing decision
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@ STATEMENT I: The nature of corrective action rﬂquirl:d de:pﬂnds upﬂn thﬂ' extent ﬂt_
deviation feom the standards..

STATEMENT I1: Controlling is a prerequisite for planning.
Cheose the correct option from the following:

¢ (3)  Statement T is true and IT is false
(b} - Statement 1T is true and 1 is false

o Both the statements are true
(4} Both the statements are false

The package of KRM Rawa Idli Mix describes the procedure of cooking idlis in three easy
steps. It also spevifics its ingredients, instructions for storage and serving. The finction
perf by the label in the above case is :
scribing the product and specifies its contents.
" (b) Tdentification of the product or brand,
(<) Helping in promation of products.
{d) Providing information required by law,

.

10.  Which of the following statements is true?
1. Cooperation in t,.hf- absence of coordination leads to wasiape of efforts.~
2. Coordination inabsence of ¢ooperation leads to enhanced satisfaction among

= 5 e
bﬁm
) Only 2

¢) Both 1 and 2.
d) Neither 1 nor 2, 6l

@ The principles of management are said to be flexible as :
(&) they aim at influencing behaviour of human beings. .,
(b) they are general puidelines to action, but do not provide readymade solutions to
gement problems, CA.
can be modified by the manager when the situation so demands,
tmlh:r application is depondent upon the prevailing situation at a particular point of

12, cqmplstes one cycle of management
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crm storage like agri:u]lural products, t
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13, STATEMENT I: For products requiring lon
warehouses are located near to the market.
; : level of gervice 10
STATEMENT IT: Higher the level of inventory, RENe? will be (he
|| also be high.

customers but the cost of carrying the inventory wi
Choose the correct option from the following:

(a) Statement 1 is true and II is false

(b) Statement T is true and I iz false
Both the statemenis are frue

(d) Both the statements are false

14, With rising polhution levels, consumers are becoming conscious about the harmful cflects

of pelluted air, so the demand for home air-purifiers is _
increasing day-by-day. Which dimension of business environment 15 diseussed here?

{a) Political Environment

(b} Technological Environment

() Economic Environment
Social Environment

15.  Which of the following is not a disadvantage of functional structure of organisation?
(&) Less emphasis on overall enterprise objectives than the objectives pursued by a

functional bead.
» @ A conflict of interests may arise when the interests of two or more departments are not

compatible. i
ﬁw lead to increase in costs since there may be duplication of activitics across

products.
(d) 1t may lead to problems in coordination as information has to be exchanged across

o functionally differentiated departments.

STATEMENT I: Electronic holdings-can be converted into physical certificates with the
process of dematerialisation.

STATEMENT II: There is no danger of thefl, loss or forgery of share certificates in
dematerialisation.

Choose the correct option from the following:

(8) _ Statement I is true and 11 is falsec’
Statemnent II is true and | is false

(c) Both the stalements are true -4

(d) Both the statements are false
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MNCs of the whole world find it easier nowada
the favourable mingd el of the cyrren
majority of the multinationa| companic

op 100 would he Opening
their offices here. This will result in nerease in income of the ¢
also result in the demiand ol prody

. ommaon Peaple which will
eis ol superior consumplion, pap

Which dimensions of business environment are highlighted here?

1. Social

¥5 10 open their oMices
government. It is believed (hy
5 Who are counied AmongE

in country Y due 10
in the coming time

2. Political

1.8

19.

3. Economic
4. Technalogical

ay 1,2

23

c} 1,3,
dyl4,

Match the following tools of promotion with their explanation and choose the cOrTect
oplion

A 1| W is undertaken by some identified person T
feempany who makes efforts and bears the

cost of jt,

It plays an important role at the awareness | 2 Sales Promotion

stage and develops product preferences

with the aim of making sale,

It helps in managing public opinion and 3

company’s relation with the public on

regular basis,

It uses tools specifically designed to 4

promote fo customers, middlemen and to

| | salespersons.

..m’f{a:n. B (1),C(4),D(2)

(B) A(ILB(3),C@).D(2)
() A(2),B(3), C(4),D (D)o~
(d) A2, B@),C(1),D (3t

Personal selling

Advertising

Public Relations

Venus is an owner of a shoe making company. Recently he got an order to make 10000
pairs of shoes, Venus and his team

were asked to deliver the order before 315t December
and at a cost not more than Rs. 100 per pair, The shoe quality was told to be kﬁ:ﬁ“ 8
on & quality scale of 1 to 10, He was asked to manufacture zero defect ﬂTIT My ofiiine
fulfilled the order by 25th December, incurred cost of Rs, 120 prer pair. qu
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./ Hema is one of the most suceessfol mamagers of her company, *Kobe Lid'. She uses her 3

£

W |

-

5 . Which of
Hond an 9 o he quality seale af 1t 10 There was ne defect in shoes el
falkowing is e

Venus and his team were -L_EI

, Y Effective, not efficient,
b} Eficient, not effective.

¢} Both effective ns well ag eMcient,
d) Meither effective nor cfficient,

After adopting New Economic Policy the Government reduced the number of industries -1
under compulzory licensing to six, The new economic reforms brought changes in e
buying patterns of the people of India. The customer became more demanding Hflld
powerful because of availability eof more options, Which feature of business envirenment
is indicated abowe?
ﬁmﬂlﬂy of external forces
b} Interrelatedness
) Thnamic nahire

d} Uncertainty

5 s e
2 1}}"_}_’. wﬁﬂﬂgi"i&ﬂﬁ’ SECTION B

-ereativity and inttiative in handling challenging situations at work. The knowledge gained
by her during her student days at a renowned management institute as well as through her
observation and experience over the vears is applied by Hema in a skilful manner in the
context of the realities of a given situation. She often reads books and other Literature in

\:";( various fields of management (o keep her knowledge updated.

Identify the nature of management based on the practices of Hema. Give any two reasons
fior yonar answer,

or (D ool wuiald (e

wP-“’“' 'QZ’M Pallavi started a wedding planner company “Dreams Unlimited” in 2016 and her target was

-l them diversify the business into bridal wear. Banwari Lal has agreed but u_n_'l;l.'.lf.m_vnditinn

to be amongst the top 10 companies in this field within the next three years. For this she

employed people having different skills. She worked hard and united the efforts of different
WMLTM requirements of the costomers in this industry changed very
fast and the company adapted to keep pace with the changing.crwironment. As planned, the
WWMMW- All the employees of the organisation were
happy and satisfied and the effect of management was noticeable in the organisation. The
way Pallavi was managing her business highlights some of the features of management. By
quoting lines from the above paragraph, explain any two such features.

|/

fng

Banwari Lal is a cloth merchant in Karol Bagh. His grandsons are requesting him to et 3
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that they will fallow the function of management he "35 always followed, which T'l'i!-]:'fr Iﬂ"
gt organisation in k“"“'_‘&)ﬁﬂ&“gmg&ﬂ.ﬂ“ﬂ&-—?&d ensures that the a%u!h:?- _-_-ET_H
i W conform 10 the stondards 611 . the organisalional go ved, EE\
' Lo Mame the fnction of management which Banwari Lol is aﬁkm,_g his grandsons to follow, 5 E
List any two reasans why it is considered an indispensable function of management. El-:
: £
,(2{ Resolutions Pyt Lid. is a publishing compary. Its book on Business Studies for class XTTis 3 5 g
i great demand, As a result, the employees in the marketing department are always racing é’ £
apainst time as they have to work overtime and on holidays as well to cater (o the demag-d. 1] E
The work stress has led to dissatisfaction among the employees of the marketing E.
department. = g
Mame and explain the step of staffing process which has not been performed property. tm
7 Also, explain (he immediate next step in the process o Earing, 5
V’z{ State any three objectives of "Securities and Exchange Board of India’. 3 “g g
g‘ |E]H:!:“I-" Fit"-' _1r._1 E.EL
{}T s : - 1."'-"\.'!1 L v E I ol E"‘ E
il -""jmd'%“” 4 o
- R ot Apgaubafira, o8
State any three functions of Stock Exchange.——*% pi n.-....t:l-lv""_':l ,.,ﬂilr__ f]-' k Tj =
: , G | 2 |
SECTION C =] g
ﬁ}f What is the meaning of Directing? State any three points of importance of Directing asa. 4 P
function of management. =
OR
____-

What is the meaning of motivation? State the features of motivation as an elenvent of
Drirecting.

‘/l/ﬁ Fr?qw:nl transfer of employees often reduces the productivity of the organisation, stillitis 4
being vsed ag a good sonree of filling the vacancies intermally, Why? State any four reasons.

Or

Ali Mohammad the CEO of Super Ltd believes that human resource is the most important
asset of the firm. He believes that no organisation can be successful unless it can fill and
keep filled the various positions provided for in the structure with the right kind of people.
Identify the function of management being discussed above and state three benefits to the
organisation that its proper spplication in the firm will ensure,

e e - - = i il --?IFIHEE
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~ emvironment and initiatives taken by the Government of India,

aboul F':plsmtri village located in 4 |

. { nted every time
Aman a degree holder in Entreprencurship et o which 111 rees are PIP lanted 2.5
Rajasthan, where in 2006 an initialive was started, | ilagers have P

a girl child is borm, To keep termites 8%2Y d to visi
million Aloc Vera plants around ihe trees. r':'“"“ = Vera into juices, s
business unit, for the processing and 1 were being sold withal

products, However, on visiting the villige ! g,

any standardisation mark. The alpgvera juice W ek habitan

it was found to he -:nnlamimlﬂ!_?ﬂjd_”l'f-[ﬂmd' The in

anything wrong in the practices. i 3 weekl 19 urnal- “Upbhogta Adikar
v ¥ i ] i ' e

Amai decided to set up an NGO, “AWIZ and i along with his cONUIEt jal venture.

for creating awarcness Bmongst the PE’:"F‘]': of P'ip!ﬂull'i

Jucts were bein :
sl ThELPdT::'“ :pr;n pottles and after testing
te of the villags did not find

P

Identify the consumer right being excrised By AR, ; ming in
Siate any three funetions rﬂ-_;a_; the .;.fg.anil-&tllﬂl'l E-Stﬂb“ﬁhﬂd b}" Aman will be Fl:ff';‘ B
the above context. le:faé [:-rn.-r." el

turing. Due to the changing |
the company wants to enter jhf.,t'[ o

this project the company 1eq uires $2,000 crote. But {3 i
assets, the finance MAanager has to assess the .o
type of decision affects {he earning capacity of

there are various other factors which may affect ,U‘Hﬁ-

*AM. Motars Ltd." is & leading company in car manufac

‘inlw manufacturing of e-cars alge. For
before purchasing the machmes and ofhier
degree of risk involved in the project as this
the business aver the long sun. Besides this,
this decision of the finance rn;:m.gnr-

¥ Identify and state the financial decision discussed in the above para.

if State any two factors that may affect the decision of the finance manager identified in

(1) above,

Alka is working in the Accounts Department of *Modern Locks Ltd’. Her mother is not well 4
and to attend to her she wanted to take kave for one week. For this, she went to the Senior
Accountant, Manoj and discussed het problem. At that time Manoj was simultaneously
checking the Balance Sheet of the company. Since his mind was precccupicd in some work,

he did ot listen fo Alka attentively and could not understand her problem. Alka was quite
dizappointed with the behayiour of Manaj. ) ;

Identify the type of communication barricr discussed a‘u-;:l.;jzi‘-_[ el D"L."-.!j o\ HIL'D‘E*H':_'E:{ s
.}b:!.ﬂu!scr explain any three barriers of the same type. "

Srijan, after completing his bachelor's degree in culinary arts from a reputed institute, took 4
over his family restaurant specialising in South Indian dishes. This business was promoted
b:,rl-,igE;n:mdl'ﬂthm'man}'ymrﬂ'h&nkintha_ﬁmﬁufamgga'_ny,ﬂuwmwmmﬁﬂtm
restanrant renovated to open a special section for bakery products, It is estimated that an

investinent o 25 erore will be required to execute this plan. (Al present the cash flow position

of the ny is not strong and fixed operating costs of business are glso high b

‘Keeping in view the above situation, name with two reasons, the source of finance which .

Srijan should choose for modemization and expansion of his business. Also explain one [,,
fad b
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maore factor, apart from those slaled above which Srijan should oy o2
this decision. keep in mind while taking

SECTION D

Name and explain with a suitable example 4 .
: ple the techniques of Scipn .
by Taylor, with the objective oft tific Management Eiven

@Jﬂﬂmining the number of workers to be employed for a task.
 differentiating between the efficient and the inefficient workers,

Or

W Eun_i}ra Ltd. was engaged in the business of manufacturing Auto components. Lately, its

+ business was expanding due to increased demand for cars, The competition was also
increasing. In order to keep its market share intact, the company directed its workforce to
work overtime] But this resulted in many problems. Due to increased pressure of work the
efficiency of workers declined. Sometimes, the subordinates had to work for more than one
superior. The workers were becoming undisciplined. The spirit of teamwork, which had
characterized the company previously, had begun to wane.
a) Identify three principles of general management which were begin violated, quoting th
lines from the above case, i tplavse | gyt de ot g4 w{? % m“"“"‘"""““";
b) Explain any three points of significance of principles of management in a business
organisation? T-MHLL!? s L ol :-J:L:’-Fﬁ!aiw-’j' y At b {Lw b ol

M 32.  AnAuto Company, Win Itd is facing a problem ﬂfdml'h:liug market share due to increased 6

competition from other new and existing players in the market. Its competitors are
introducing lower priced models for mass consumers who are price sensitive. The Board of
Directors of the Company announced a meeting to discuss the decisions regarding pricing
and launching a new range of models, in order to increage the market share of the company.
uly ____..].E:tte:ndlggiha meeting was not a discretion for the directors and a penalty was announced
r oot attending the meeting, '
The following decisions were taken in the meeting;
a) to define the desired future position nftht_mmpan].r, as acquiring a dominant position in
the market by increasing the market share to 10% in 1 year.
b) to change the criteria for choosing vendors for procuring supplies;
T tenders will be invited for choosing the vendors for supplying raw materials; pekired
d) to imvest in development of the human resources of the organisation by providing training
to higher [evels by holding seminars and providing on the job training for the supervisory

management. | g

a) What are standing plans and single use plans? .

b) Briefly explain the plans discussed above, which can be classified as standing plans, by
quoting the lines.

A L B . 1= LI Ll = e e —— - b E_IPEEE.



and now they are doing different 6
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siness ideas and exchang® mrfBT
hniques, S99

Jg Ginika, Tanigh and Rohit were fricnds from college day
ning, selling 1€

kinds of business. They regubarly et and discuss their .hll'l
on customer satisfaction, narketing cffors, product desie

concerns ele,
nd Raohit tawards the

loiting the consumen
towards the .thical an{f ﬂf:t_:_r_!ﬂg_lﬂfl]

se attention of Tanish

f the sellers were EXPIET
mclﬂ]._ﬁ.:‘h:

In ene of such meetings, Ginikn drew tl
exploitation of consumers. She told that most o
4 various ways and were not paying attention nder
:‘:T"f':_'; of "m!:"ﬁ“% 'l'-'hﬂmusp:!_lﬂ was not doing. 0. Tunish wld that l:l:::l “::T::-Ltlﬁ:f
B s R prf:::s:_s_uru to satisfy the consumers, tut stated that the EII_H:EH,!'J?FF_“:"?.".‘.":! e Rghlt stressed
ARl 4 enough unless they were adequately convinced md_nwis}ﬂﬂﬂm@-thﬁ-ﬂm cods of the
that a company eannol achieve its objectives without ng Iﬂ“ “ 5,' indf]
v Customers. Tt was the duty of the businessmen to keep consumer 5&1!5!'?(:“:"! Mﬁ:ﬂw f
m_ﬂ-"ﬂ- == business is run by the resources made available to them by the socicty. He :
 stated that he himself was taking into consideratson the needs of the customers-
Identify and explain the various types of thinking/ philosophies that guided Ginika, Tanish
and Rohit individually in the marketing cfibrts of their business.

."-'-' B {r,__'l';::l-llil_ )

\.}" Centralisation and decentralisation are relative terms, as seen from the existing status of 6

various business enteTprises.
1n the light of abowve statement answer the questions that follow;
1. Statc the key difference between centralised and decentralized organisations?

2. To what exteni can an organisation be fully centralised or decontralised?
3. Why is decentralisation considered an important aspect of organisational structure?

{Any three points)
Or

How arc functions arranged within a division in a divisional structure? In what ways does
a divisional structure assist organizations in managing complexity?
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